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Note to the students:- All the Questions are compulsory and carry equal marks .      
	Q1. 
	On gathering stiffness and loads ,the system of equations is given by

	Option A:
	KQ=F

	Option B:
	KQ≠F

	Option C:
	K=QF

	Option D: 
	K≠QF

	
	

	Q2.
	Nodal points greater than geometry points  is known as	

	Option A:
	Isoperimetric

	Option B:
	Axisymmetric

	Option C:
	Super parametric

	Option D:
	Sub Parametric

	
	

	Q3.
	In FEA, to evaluate the strain displacement matrix we use	method.

	Option A:
	Crammer

	Option B:
	Henry

	Option C:
	Jacobian

	Option D:
	Inverse 

	
	

	Q4.
	Each node in the heat transfer problem ….. degrees of freedom

	Option A:
	1

	Option B:
	2

	Option C:
	3

	Option D:
	6

	
	

	Q5.
	In iso parametric elements ,the following condition exists

	Option A:
	i=j

	Option B:
	i<j

	Option C:
	i>j

	Option D: 
	i≠j

	
	

	Q6.
	A six noded triangular element is known as

	Option A:
	Linear strain triangular element

	Option B:
	Constant strain triangular element

	Option C:
	Variable strain triangular element

	Option D: 
	Differ able strain triangular element

	
	

	Q7. 
	[bookmark: _GoBack]If the geometry of the elements are described by a lower order shape functions, then these elements are called 


	Option A:
	Iso Parametric

	Option B:
	Axi Symmetric

	Option C:
	Super parametric

	Option D: 
	Sub Parametric

	
	

	Q8. 
	In FEM the complex domain defining a continuum is divided into

	Option A:
	Points

	Option B:
	Elements

	Option C:
	Triangles

	Option D: 
	Quadrilaterals

	
	

	Q9.
	The higher order elements are also called as

	Option A:
	Complex elements

	Option B:
	Compound element

	Option C:
	Linear element

	Option D: 
	Binary element

	
	

	Q10. 
	The total potential energy is the algebraic sum of

	Option A:
	Integral strain energy and work potential

	Option B:
	Integral strain energy and external work done

	Option C:
	Integral stress energy and work potential

	Option D: 
	Integral stress energy and external work done

	
	

	Q11. 
	Number of displacement polynomials used for an element depends on________.

	Option A:
	Nature of element

	Option B:
	Type of an element

	Option C:
	Degrees of freedom

	Option D: 
	Nodes

	
	

	Q12. 
	Triangular plane stress element has …… degree of freedom

	Option A:
	3

	Option B:
	4

	Option C:
	5

	Option D:
	6

	
	

	Q13.
	The truss element can resist only ______.

	Option A:
	Axial force

	Option B:
	Surface force

	Option C:
	Point load

	Option D: 
	Uniformly distributed load 

	
	

	Q14. 
	The final global finite element equation for the complete structure can be written in the Matrix form

	Option A:
	{F}=[k]+{u}

	Option B:
	{F}=[k]-{u}

	Option C:
	{F}=[k]{u}

	Option D: 
	{F=[k]/{u}

	
	

	Q15.
	The displacement function for 1-D ,two node linear element in terms of shape function will be

	Option A:
	u =N1u2 +N2u1

	Option B:
	u = N2 u1 + N1u2

	Option C:
	u=N1u1+N2u2

	Option D: 
	u =N1u1+N1u2

	
	

	Q16. 
	Based below condition which is a serendipity triangular element

	Option A:
	Nodes at corner   

	Option B:
	Nodes at center   

	Option C:
	Nodes on element

	Option D: 
	Both A & B

	
	

	Q17.
	The nature of loading at various locations and other surfaces conditions called

	Option A:
	Boundary condition

	Option B:
	Traction

	Option C:
	Friction

	Option D:
	Surfacing

	
	

	Q18.
	In sub parametric elements ,the following condition exists

	Option A:
	i=j

	Option B:
	i<j

	Option C:
	i>j

	Option D: 
	i≠j

	
	

	Q19. 
	In one of the property of shape function, summation of shape function [Σfi]is

	Option A:
	2

	Option B:
	2n

	Option C:
	1

	Option D: 
	0

	
	

	Q20.
	Number of DOF per node in a triangular thermal element is

	Option A:
	4

	Option B:
	3

	Option C:
	2

	Option D:
	1

	
	

	Q21.
	Hinged support is having	number of reaction forces

	Option A:
	1

	Option B:
	2

	Option C:
	3

	Option D: 
	0

	
	

	Q22. 
	The point in the entire structure is defined using coordinates system is known as

	Option A:
	Local coordinate

	Option B:
	Natural coordinate

	Option C:
	Region coordinate	

	Option D: 
	Global coordinate

	
	

	Q23.
	How many nodes are in 3-D brick element

	Option A:
	3

	Option B:
	6

	Option C:
	5

	Option D: 
	8

	
	

	Q24. 
	Example for one – Dimensional element is…..

	Option A:
	Triangular element

	Option B:
	Brick element

	Option C:
	Truss element

	Option D: 
	Axisymmetric element

	
	

	Q25.
	A small unit having definite shape of geometry and node is known as

	Option A:
	Discrete element

	Option B:
	finite element

	Option C:
	Assembled element

	Option D: 
	Infinite element
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